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(BIIHAZAIZ+E2D])L2H 692.05 g £ost=dl(w) : 3.2%
|2 : 577.00 g o9 (Gs) : 2.623
SIAZAZFA W, : 115.05 ¢ 28X (PI) - N.P =AM TAMUES
AXZAMES2AH : Ws=100Ws /(1004+w) : 115.02 ¢
P2.0(2Zd2.0mmolMSl JIMSUS: 54.8%
1. BIAHZAIZ9 &<H =3 (XAHAE4H|)
NO @ 1 NO : 2 NO : 3
WW = 1310.0 WW = 1343.6 W =
DW = 1275.1 Tw = 177.7 oW = 1308.7 Tw = 207.5 oW = Tw =
Ww = 34.9 Ws = 1097.4  Ww = 34.9 Ws = 1101.2 Ww = Ws =
= 3.2% W= 3.2% W=
= gl 3.2%
2. HISH A8
== Z AR HSoeS EEREENEEE] = Al A o . o 2E
SEAZ t(min) | A28= r' S520ILm) | L/ t N L/t  (30n)/g(rs—rw) | %ICH&IZD(mm) SENTE |EEdTE) rH |rasas A=l
9:41 1 0.0135[ 0.0135 143.3 143.3 11.9695 0.0040 0.0485 25 0.0020f 0.0155 21.7% 11.1%
9:42 2 0.0125[ 0.0125 145.2 72.6 8.5206 0.0040 0.0345 25 0.0020] 0.0145 20.3% 10.4%
9:45 5 0.0120f 0.0120 146.2 29.2 5.4068 0.0040 0.0219 25 0.0020f 0.0140 19.6% 10.1%
9:55 15 0.0105f 0.0105 149 .1 9.9 3.1525 0.0040 0.0128 25 0.0020] 0.0125 17.5% 9.0%
10:10 30 0.0100f 0.0100 150.0 5.0 2.2364 0.0040 0.0091 25 0.0020f 0.0120 16.8% 8.7%
10:40 60 0.0095[ 0.0095 151.0 2.5 1.5864 0.0040 0.0064 25 0.0020] 0.0115 16.1% 8.4%
13:40 240 0.0090( 0.0090 152.0 0.6 0.7958 0.0040 0.0032 25 0.0020f 0.0110 15.4% 8.0%
9:40 1440 0.0080f 0.0080 153.9 0.1 0.3269 0.0040 0.0013 25 0.0020f 0.0100 14.0% 7.4%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) Sietol 1 & AXAIZ22A 12:2E 25O B1OA =24 1.0507 X 2 20l (mm) 10.87
b : X 2229 20l(mm) 136.84
1/(Ws/V)= 8.69 cm/g Gs/(Gs-0.99678)*rw 1.613  g/cm Vb —‘?—E 2Ll 21 (em) 57.50
A HAASIGS SHHE (o) 58.84
3. MotE
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 438.7 477.5 38.80 33.7% 33.7% 66.3% 36.3%
0.425mm(N0.40) 2 375.2 407.2 32.00 27 .8% 61.6% 38.4% 21.1%
0.25mm(N0.60) 3 380.6 396.6 16.00 13.9% 75.5% 24 . 5% 13.4%
0.106mm(NO. 140) 4 345.5 358.8 13.30 11.6% 87.0% 13.0% 7.1%
0.075mm(NO.200) 5 349.2 351.9 2.70 2.3% 89.4% 10.6% 5.8%
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XA (M2 A XA 2+2D]) 4293.7 g W1+ 21) 2 A 2,285.9 g
SII2H 746.1 ¢ =PI 746.1 ¢
HHAIZO ZIAHAXLE2AHW) 3547.6 ¢ W1 1,539.8 ¢
1. 2mmAl SUHA2Q &H A
NO 1 NO p) NO
WW 920.9 WW 956. 1 WW
Dw 890.8 Tw 178.6 Dw 924 .4 Tw 176.5 Dw Tw
Ww 30. 1 Ws 712.2 Ww 31.7  Ws 747.9 Ww Ws
W= 4.2% W= 4.2% W=
HZzs | 4.2%
2. MHAZAZSHMO) = W/ (14w) 3403.5
3. 2mA SWAHZXAIZSH (W)= Wo=W0-W1 1863.7 g 1863.7
4. P2.0(YZF2.0mOIN S JHEEDE)= W2/Wo 54..8%
5. 2mmAI0l €2 A2 HE4H
H AR 1 2 1 2=1/W0
_ _ O genar | geas o | ot b=
MosEsl BARA | g | eww | ¥FER| uss | sas
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 469.50 0.00 0.0% 0.0% 100.0%
19.0mm 5 456.80 456.80 0.00 0.0% 0.0% 100.0%
9.5mm 6 489.70 599.70 110.00 3.2% 3.2% 96.8%
4.75mm 7 524.00 1048.80 524.80 15.4% 18.7% 81.3%
2.0mm 8 431.10 1336. 10 905.00 26.6% 45 . 2% 54.8%
* AZAI22 1539.80 g
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